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Void main()

{
int m=1,p=3,L=5;

for (int i=1;i<=n;i++)

{
m=m-+1;
p=p*2;
L=L+3;
}
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statement # of times
executed
int m=1,p=3,L=5; i
for (int i=1;i<=n;i++) 1+n+1+n
m=m+1; n
p=p*2; n
L=L+3; n
Total: 5n+5
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T(n)< C.f(n) ;for all n>n,
T(n)=5n+5 = °n+5<6n
5<6n-5n
5<n
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Void main() PARALS sy
{

int m=1,p=3,L=5;

for (int 1=1; i<=n; i++)
for (int j=1; j<=n; j++)

{
m=m-+1;
p=p*2;
L=L+3;
}
}
tsbibe aad Gililaall d2e sl
statement # of times
executed
int m=1,p=3,L=5; \l
for (int i=1;i<=n;i++) 1+n+1+n
for (int j=1; j<=n; j++) n(1+n+1+n)
m=m+1; n*n
p=p*2; n*n
L=L+3; n*n
Total: 5n?+4n+5

T(n)=3+(1+n+1+n)+n(1+n+1+n+3n)
=3+2+2n+n(5n+2)
=5+2n+5n2+2n
=5n%+4n+5

tok WS @l 5 B2 4+4n+5<6n? ¢ o Laadl dge ) ) Al aied A 0 il

n 5n%+4n+5 6n?
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1. Read n.
2. Initialize Sum To 0.
3. Initialize | To 1.

A 30 sall Aiad ol Y

4. While I<=N Do The Following

A. Read Number .

B. Add Number To Sum.

C. Increment | By 1.
5. Calculate Mean = Sum/N.

Lain 5 0 N Lgie JS 205 A B,C laiw 52al 55502851 2| 3 il shadll o S ¢
:33&\‘53‘)455335}3‘)4&”4'135334

Statement # of times
executed

1 1

2 1
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Total: 4n+5

i3 dpa A o J 4l iy MU n0=5 9 C=5 ¢l 23 T(n) gl Julay
O(n) ubai dx 50
T(n) = O(n)

laganl) dpa 3 ) 900 038 2 o+ Ay el s A Galll a g
#include "iostream.h™

void main(void)

{ o
int n,i;
float Sum;
float Number;

cin>>n;

Sum=0.0;
i =1 ;

while(i<=n)

{
cin>>Number;
Sum += Number;
i++;

}

float mean=Sum / n;
cout<<mean<<endl;
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Void main()

{
int m=1,p=3,L=5;

for (int i=n; i>=1; i/=2)
for (int j=1; j<=n; j++)

{
m=m-+1,;
p=p*2;
L=L+3;
}
¥
tebibe a0 Glilaall dae sl
Statement # of times
executed
int m=1,p=3,L=5; 3
for (int i=n;i>=1;i/=2) 1+log n+1+logn
for (int j=1; j<=n; j++) (Log n)(1+n+1+n)
m=m-+1,; Log n *n
p=p*2; Logn *n
L=L+3; Log n *n
Total: 5+(3+2n)log n
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Void main()

{

int m=1;

for (int i=n; i>=1; i/=2)
for (int j=1; j<=n; j++)

{
If (j==3) break;
}
m=m-+9;
}
:&LA Aa LL\L:\M\ e ilaal
Statement # of times
executed
int m=1; 1
for (int i=n;i>=1;i/=2) 1+log n+1+logn
for (int j=1; j<=n; j++) (Log n)(1+3+2)
If (j==3) break; 3+1
m=m-+39; Logn
Total: 7+9log n
log n (o 4l Al 2das da jo o Jall
ZENP)
(o staall 5 A0 a3l A Ll oA )
Glaleall 220 a2
el Al adad Caal Y
Void main()
{
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int z=10,p=3; mansn T

for (int i=1; i<=5; i++)
for (int k=1; k<=n; k++)
{
z7=7+1;
p=p*2;
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